Vypodite]
9+ 4 =
7+8=
5+4=
8§+ 3=
8§+ 8=
5+2=
9+9=
8§+ 6=
6+6=
5+3=
6+4=
9+ 8=
1248 =

Serad’ vysledky od neymensSiho
po nejvetsi

Slo|S|L|V JIA|IT|INIM]| P
Vylusti tajenku
17(15120]16| 7 1111314191317




Vypocite)

15-8=
19-5=
12-6=
11-9=
17-8=
18-2=
14-6~=
11-7=
12-9=
15-5=
13-8=
11-10=
14-2=

Serad’ vysledky od nejmensiho

po nejvetsi
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Vylusti tajenku
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Vypocitej
&+4=
17-8=
T+7=
16 - 8=
5+6=
13-9=
6+ 9=
14-8=
0+ 8=
11-8=
4+ 9=
15-8=
14+6 =

Serad’ vysledky od neymenSiho

PO nejvetsi

N[O|T|R|V|UJE|J[A|T]|D Z
Vylusti tajenku: Napis ...
1501136 [ 9|17 3 [13]7 | 4 [20]11|3 |14




